CamocTrosiTesibHasi paboTa 6.2
Pa3HocTh KBaapaTOB
Bapuant 1

Al. BeimonaHuTe yMHOXKEHUE:
a) (x=5)(x+5); 6)(a+3b)(a-3b); ) (5y—x)(5y+x);
0 (b+7)(b-7).
A2. YnpocTute BbIpaXxeHue
a) (a—6)(a+6)+36; 0) y2+(2x—y)(2x+y)
A3. Paznoxxute Ha MHOXKHUTEINH:
a) 36—25a"; 6) 9x’> —4a’; B) 1-16b"; r) 49a° -100.

B1. IIpeoGpa3yiite B mpou3BeIeHUE:
a) (m+n)2—p2; 0) 9a2—(a+2b)2,

3amanust A1-A3 COOTBETCTBYIOT YPOBHIO 00s13aT€IHHOM MOATOTOBKH.

CamocTrosiTeabHasi pabota 6.2
PasnocTh KBagpaToB
Bapunanr 2

Al. BeImonHuTE yMHOXEHHUE:
a) (2x—1)(2x+1); 6) (4a+b)(4a-b); B) (3y—x)(3y+x);
r) (b+6)(b-6).
A2. YrpocTute BbIpaxeHue
a) (a+5)(a=5)+25; 6) 4y’ +(x=2y)(x+2y)
A3. Paznoxute Ha MHOXUTENH:
a) 16—49a”;  6) 4x*—9a°; B) 1-4b*; 1) 100-364".

B1. IlpeoOpa3yiiTe B mpou3BeeHUE:
a) (m—n)z—pz; 0) 4a2—(a+3b)2_

3amanust A1-A3 COOTBETCTBYIOT YPOBHIO 00sI3aT€IbHOM MMOATOTOBKH.





